9p + 9P + 9P +9p = Find three quarters of 36

7 squared = Divide 280 by 4

How many millimetres are
there in 7 cm?

3x5=

What is the difference
double 20 =

between 1 of 12 and 5 x 97
3

There are 24 halves, how
many whole ones is that?

40+40+40+4O+40=

What is the remainder when
57 is divided by 67

3 x 90kg =

three eights = threes

Six biscuits cost 66p. HOW
much does 3 cost?

Write the numbers which
divides exactly into 18 (these
are called factors of 18).

84 +7 =

6 X

How much greater is (4 x 9)
than (2 x 8)?

What is the i
perimeter :
square? of this

How many 5p coins are worth
95p?

12cm
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ANSWERS

9p + 9P + 9P +9p = Find three quarters of 36 27

7 squared = 49 Divide 280 by 4 70

How many millimetres are
there in 7 cm? 70

3x5= 15

What is the difference
double 20= 40

between 1 of 12 and 5 x 97
3

There are 24 halves, how
many whole ones is that?

40+40+40+40+40= 200

12 41

3x90kg= Z70k9 What is the remainder when

57 is divided by 67

3

- . biscuits cost 66p. HOW
three eights = eight threes Six biscui

much does 3 cost?

Write the numbers which
divides exactly into 18 (these
are called factors of 18).

1,2,3,6,9,18

84 +7= 12

33p
6x 8

How much greater is (4 x 9)
than (2 x 8)? 20

What is the per;
perimeter :
square? of this

How many 5p coins are worth “8cm

95p?

12cm
19
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